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Q(5) Q1-
) Q Compute and sketch (magnitude and phase) the Fourier series
coefficients of the following signal:

x(0)

+ |3 "

Q(6) If the Fourier coefficients of a signal are given by:
’ 41,,
, n=1509, ...

nit
A ={—4I
n m  n=3,711,..
nm
0 ,  mn=even
B,=0 , . Ap=0

a. Calculate the DC- value of the signal

b. Sketch the DSS of the signal

Q(7) - Sketch the line spectrum of the following signal
s(t)=2+6 cos( 2710t + 30°)+ 3 sin (27301) - 4 cos (27401)
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'Q(8) Find t -
he Fourier €Xpansion of the shown signal. [n=1, 2, 3, 4]
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Q(12) cal ]
) Calculate the average power of the signal 5(1)=4sin50zt gjng:

a. The integration direct method.
b. The Parseval’s theorem.

2 .
Q(13) If f(2) = ;bfor —; <t< ; and f(t) = f(t + T) has a Fourier series
given by:: '

_ 2 voo (D™D 2mnt
f(t)—n =1, SN

Calculate the normalized power for this signal contained in the first 3 comporients

Q(14) Find the Fourier series of the shown signal.

f(t)
4
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Fourier series Q{1), n=1,3,8,15,50
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Fourier series Q(3), n=1,3,10,100,500
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Fourier series Q(5), n=1,3,10,25,50

n=1
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Fourier series Q(8) n=1,3,10,30,60

n=1 n=3

15/31



— 4 s é
r(‘ps /\]Séﬂ) C6</ ﬂ)l \\8

3 8 K e i s At
““\ou; | I’CQS/Q_LHV'\ a8 Q_:S_Dl-_o ogq P TYe e
e L N SN < A XSS

_Xh)s 1.1451% Cos (m’c:»\sz)—i—c.u Cos(Quit=51)

b0 14 §6 CoS. (RLIE =126)+0. 133 CoS. Luu-h\cz) .
— J\cal v A e
| 3k
. 0
ot 13
Ty g 1 _
01 2 3 g s mw i I 4 S na
y SH
-\26
Q.- The siana\__‘¢ odd = q ,th(\ , The Q%Y\Q_,\, hos g Ligve
= Q;_ N <Y w\m,Q}YY\(\J
€2L
5-, = Q:A. ( zin (nk) - M;— \ S r\_m“\:\ A:\J
n To J N J’ﬂ ~ 7 J
- S =1
L, - 2A [ cos nwd) |+ cosGrud). ‘
" la hw | W\
b= 2 A —[ =CaS T oS (o) + CoS(nW (LS_QDLA.L
" mTeW >
WT _ =2anu . WX T =TI

Z/‘A f—@s {Ym\ +1 =+ coS(Q_rm\ - CQS(Y\“{\A

b= _A (4 A Cog Q'ﬂ‘ﬁ) -2 CoS(tnqrj;l‘

L

i )

A, Ser ) even

N Q;\;-e "\:\r\nér~ C_DS(\’).Y\‘T\) = A Y, (N (\h’ﬂ)'_‘.

Z-\ y For () oc)é

16/31



Fourier series Q(9), n=1,3,10,30,50; A=3

N=10 = =30 =— =50
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Fourier series Q{10) n=2,5,10,30,60; A=2
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Fourier series Q{11), n=1,3,10,30,50; A=5
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Fourier series Q{14) n=1,3,10,100,500
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